B RERABRAE

Weihai Kaite Hydraulic Technology Co., Ltd

e S

HYDRAULIC ROTARY ACTUATOR




3K

CONTENTS

/AE /I\g | PART 1
COMPANY

PART 2

PRODUCT

PART 3

Philosophy

PART 4

DEVELOPMENT




PART

COMPANY




P | ey sssmssm S e——
/AaysEmEEEE 2 WERWAWA\
ey . J | EY N\ \N

Bl /| B\ \ __\ _\\

A

TS AEEERAHE, W5
[RENE. SIHEINMEHAR
AEERG, BASZRTIE
RETHIRAEBA, P REEBE
Mt BENEEEIRTT, RETEG
FRRSERM, BRENIRERYIF
myk, EEZRFPIERER B
MERSMIE TR T A E]
EAVAI L= S

A I
/NN

COMPANY PROFILE
BiBIERESAE IR A TN T =S ERTHILER
i, BT EEUEsHEIA A, fiE. HES
RS, ANERIZNBTT . EBRVUE. SFhE
i HEERS T, FSCIHORBENES B,

Situated in the beautiful coastal city Weihai, we

specially focused on the helical rotary actuators

manufacture including R&D, manufacture, sales
and after-sale service. Products widely used in
construction, Energy, Marine, Material Handling,
Mining fields.

Weighing on the innovation and continuously
improvemnt, our professional team pay much
attention on quality, most key parts sourced

from international brand companies, all our

design and manufacture achieved by adopting

CAD/CAE system. with advanced production

manage system.



Eﬁﬁlbb =

DEVELOPMENT HISTORY

2015/ MR U

2015 FIE AR —aRNAERIIN TS,
2016 5T on/ ML ERR ™~

Year 2015 the first hydraulic ratory
cylinder prototype well tested and

commissioned for mining equipment.

Year 2016 small batch production

started and delivered to customers.

IMEEEFRIATRIRERE

102 1 Ef3 MNERFFEEIMEER TR
FrER R E AR EH

2017

More than ten models from 3 series
manufactured and delivered to

customers in china with

continuously quality improvement .



SR EE
FEHLEL/ L E ST

More products for different

application developed and
manufactured.

Cylinder special for excavator
successfully passed testing by
customers and started small and

media order delivery.

pAOKRS

2019

B RSRITREFHA
N — . —_
BIMTERAZ ]

S5ZRBINEFIERRZ B FHKINZ R
More models developed and

quantity production started,

Products delivered to overseas
customers from USA, AU,IT,IND




ASLRE VY

ORGANIZATION

R
Az He
I 35 Efe T e il 1 pe i fR e AR e
KW FregHe I T %= [a]e AL G R«

ﬁ”ﬁe_l




PART

PRODUCT




7= Bt

EanmE AR MBRER 4P R, TZNRESETIREM, &

B, RO, R, S=RLFaFREL.

Hydraulic rotary actuators are compact units which generate very
high torque in small spaces using hydraulic pressure, wide used

in construction, mining, agriculture and aerial platform equipment

etc.

KB =2 MRZE

High torque output Compact structure
PRODUCTS Sh tord P P
advantages of large compact structure and
output angle, over- high rotary precision

loading performance. etc



— Py,

OUR PRODUCTS

= 1

L
A7~

FEmEE RN ERIARC IR, TEiH
ERIEERN IS E LIz iR pEke
i, hetkfERES

This design is based on a system
with a multiple helical gear. The
linear movement of the piston is
converted into a rotational
movement via the multiple helical
gears by hydraulic pressure , the

rotational movement variable.



FMaatki®  our product




wBYERG Selection Guide

FEESR standard series

2/ Rotation 180. 360°
wHHHA%E Max drive torque 180 -- 2700NM
{F45A%E Max holding torque 630 -- 9400NM

Z=4%5 Max moment 560 -- 11200NM
ZH AT, Mounting Z== flange
KT20
el Rotation 180°

wHA%E  Max drive torque 500 -- 4200NM
{F#HH%E Max holding torque ~ 1300-- 1T0500NM
FE15H%E  Max straddle moment 2500 -- 31600NM
E=AME  Max cantilever moment 1360 -- 15800NM
2475, Mounting I foot




wBYERG Selection Guide

FEESR standard series

KT30
Sy=s Rotation 180. 360°
A% Max drive torque 1900 -- 24000NM

{##HA%E  Max holding Torque 4900 -- 59000NM
E1GE5E  Max straddle moment 19200 -- 256000NM
BET5E Max cantilever moment 5200 -- 72900NM-

L%/, Mounting Hefi/i&= foot, flange
© KT40

L= Rotation 200, 220°

wHA%E  Max drive torque 2800 -- 6700NM

{#HH%E  Max holding torque 6100 -- 14300NM
152545 Max straddle moment 4200 -- 10100NM
Za#EH/H,  Mounting i) foot




HBUERS Selection Guide

JEARESR Non-standard series

Egs

itHiHAE
PRIFIHAR
LRI

Rotation 110°, 134°, 180°
Max drive torque 600 -- 24000NM
Max holding Torque 1900 -- 50000NM
Mounting JESEILE AR




Z&EHBI, Mounting

BEET %742 /Cantilever mount FEIaT %3 /Straddle mount

¥

=ih L34

BN RBE —imfeftsziE71/The load R ImEIRT IR ThERISZiE/Load

applied onto one side of cylinder flange supported by flanges from both side




T#EHI, Mounting

HIETLZ3E/Rail mount L IFT & %</ Clevis mount

<«




HEULIBISEa/Model Code Guild

sp:.  KT10 - 25-360-Q F Y )
O © ©6 0 6 0 ¢
__No. | @ifi/description | i#fBjeampe

JHELEF/Series No. FHZE%: KT10,KT20,KT30,KT40,KT50

it THARERRLA100 9N HHAE/94700nmBSHEL, iCfE: 47, BP 4700/100=47

Output torque/100 e.g. output torque rated 4700nm, the code will be 47, i.e. 4700/100=47
L IEE F B /output rotation INERE—R180°, 360°, HEkAERER

angle Standard angle 180° and 360°, other angle available by special order

i AZ/torque output form Q- gliE=front flange, S-W;Z=double flange
Z—iiiHshaft output, H-7&5#3H spindle

T ,/mounting Q-gii%=,front flange mounting,H-/§iA=%3%= rear flange mounting, D-JEKEEZL %
foot mounting  M-SEE= %%, clevis mounting

Y1) /counterbalance valve Y-BEEF &R/ with valve, W-FoF &)/ without valve, A-f8&% valve body material
Aluminium

x4/ seal J-HOEIR/ imported for normal purpose G-Ef=&i& /china brand D-fi#{Ki&

/withstand low temp, brand  G-fif&EiE/withstand high temp

QO0O0000 0






N mETiEaEENZEPerformance [ -

________________ HAEETIRZ Iz, SRR Z #hZk/Torque

il /Torque vs pressure VS moment

SRRSO TORQUE VS. MOMENT

TORQUE, % RATED

40%

TORQUE, % RATED

-«“‘
(i

PRESSURE - % RATED MOMENT - % RATED

Drive — — — Holding Drive — — — Holding




Az B 3asE1RBE/ lllustrate of load and mount

EigT{Zdt /Stranddle mount
1

Rz Radial load

Stranddle moment l
Ly sl |

—

R TRE,
Axial load

HreErtrdt /cantilever mount

RmEfERadial load

2| e

Axial load

|

_ BEEEsiR Cantilever moment




oS
F=amZ41/SPECIFICATION FEEIAESEKT10Z51/KT10 SERIES

L1
L2

\
Y

A
Y

o O B o Mt -

®

D2




F=mZE8/SPECIFICATION FE AR ZEKT10%51/KT10 SERIES

KT1057%1
BI5/SERIES 2 3 6 10 16 27

180 320 600 1000 1600 2700
630 1200 1900 3800 5700 9400
BELIERAS/Max cantilever moment Nm 560 1000 2200 5600 9000 11200
900 1350 1850 3600 4980 6700
900 1350 1850 3600 4980 6700
63.9 121 192 365 552 914

HEE/ Displacement 360°cc - 243 384 733 1105 1829

B5/Weight 180°kg 6.4 10 14.2 26 433 57
EB&/Weight 360°kg - 12.8 19.2 35 54.5 83
D1 L& H1E/ Dia of mounting flange mm 77.2 89 102 127 148 185

D2 FfKE1E/dia of house mm 100 119 135 170 198 226

F1 i 5=imiRe2F| R~/ tape hole mm M8x1.25 M8x1.25 M10x15 M12x1.75 M12x1.75 M16x2

F2 iZ=imiR22F 1N/ Nos of tape holes 8 8 12 12 12 12
F3 j&Zimigszrh ) EIE{R/ Pitch of mounting mm 54 73 80 102 127 140

F4 imz=iniR22f R/ tape holemm M8x1.25 M8x1.25 M10x1.5 M12x1.75 M12x1.75 M12x1.75




F=mZE8/SPECIFICATION FE AR ZEKT10%51/KT10 SERIES

KT10Z%5%1
BJS/SERIES 2 3 6 10 16 27

F4 imz=imiR22f R/ tape holemm M8x1.25 M8x1.25 M10x15 M12x1.75 M12x1.75 M12x1.75

F5 imasimiRe2#02/ Nos of tape holes 8 8 12 12 12 12
F6 imEimiRzz O EIER/Pitch of mount mm 86 103 117 151 175 203

F7 23<¥LE%%/ Dia of mount mm 14.3 17 21.4 35.7 45.7 66.7
H1 Fu & EIfRIR R /valve height mm 80 90 98 115 129 143

L1 24<E/length (180°) mm 140 143 156 184 224 241

L1 24<E/length (360°) mm - 189 212 258 311 346
L2 R&hEks i Z=1E/length (180°) mm 138 142 154 182 221 239

L2 REaleEEiE=1KE/length (360°) mm - 188 211 256 308 344

L3 JEZ=FEE &R E/ Distance to valve (180) mm 254 26.9 27.7 27.9 38.6 43.9

L3 ;5= IR & RH<E/ Distance to valve (360) mm = 22.6 24.6 42.7 60.2 70.4

P1 P2 F{HE/port ISO-1179-1/BSPP ‘G’ Z&%l, RTM 1/8 = 1/4, FWEL,
V1 V2 i@{HE/port ISO-11926/SAE &%, R4 7/16, iFRELK.




:l% —
F=mZE8/SPECIFICATION FE R AR ZEKT20%51)/KT20 SERIES

27, 42iR &

H4

5,9, 16ih% 59 1685 E=



F=a

£#4/SPECIFICATION

=R ERKT20%%1/KT20 SERIES

#S/model
#5i-H#H/Drive orqueNm@21MPa

{##54H%E/ Holding Torque Nm@21MPa

EIELIEEAZHE/ Max straddle moment Nm

BEriE B2/ Max cantilever moment Nm
R faE/ Radial load kg

A ta#E/Axial load kg

HE=/ Displacement 180°cc

E&£/Weight 180° kg

D1 %&£ H1Z/ Dia of mounting flange mm
D2 FfRER/dia of house mm

F1 i2=imiR22F, R~/ tape hole mm

F2 ;5=imtRe2 N8/ Nos of tape holes

F3 i&Z=imigzzHHEER/ Pitch of mounting mm
F4 i@EFLRJ/ shaft hole mm

F5 £ aE22F R J /oot tap holemm

F6 #eh/0FL/shaft hole mm

KT20%7%!

5 9
500 900
1300 2400
2500 4500
1360 2480
1380 2130
500 680
132 234
12.5 17
104 117
101 114

M10x1.5 M10x1.5

6 8
53.9 65
M20 M24
M16 M20

16
1600
4400
10200
5420
4190
1000
436
30
142
139
M12x1.75
8
85
M24
M24

27
2680
7100
16400
11300
5580
1400

726
51
170
165

M20x2.5

8
102
M24
M24x3

42
4200
10500
31600
15800
9530
1770
1070
77
196
191
M20x2.5
10
121
M30
11/4-7



F=mZE8/SPECIFICATION FE R AR ZEKT20%51)/KT20 SERIES

KT20%5%1
#=/model 5 9 16 27 42

F7 imz=22FRJ/ flange tap hole mm - - - M12x1.75 M16x2
F8 imzsIREE &=/ Nos of tap holes - - - 8 10

F9 imas22F L OEIE{R/ pitch of tap hole mm - - - 108 121

H1A& ¥ E®EREE/ height without counterbalance valve 119 135 158 193 218
mm

H2JRmEiE+ 2=/ height of center hole mm 66 76.2 85.9 108 121
H3 b= /foot height mm 34.3 38.1 44.5 63.5 70
H4 S&E/ total height mm 146 163 185 220 245
L1 SH4<EE/ total length mm 188 216 248 298 337

L2 REEEEE=1E/ length without flange mm 173 197 229 276 314

L3 ;&= e EmEEE/ distance between flange and 32 4.5 e 188 49
counterbalance valve mm . . .

L4 %27 BER/ mounting length mm 111 140 152 184 216
L5 ;x=5%%3| 855/ flange to mounting hole mm 37.9 37.6 47 57.2 60.5
W1 ibpZ2£FLBEE/ mounting width mm 145 152 197 222 267
W2 R E/ overall width mm 178 191 248 279 330
P1 P2 {0/ port from housing ISO-1179-1/BSPP 'G" &%, RIM 1/8 £ 1/4, FNELK.

V1 V2 [@Aif0/port of valave ISO-11926/SAE £%l, RIA 7/16, FIEL,

<
¢




FEE &8 /SPECIFICATION FEERHIIGZRKT30%51/KT30 SERIES
JKREET( (Foot type)




FEERHIAERKT30%%1/KT30 SERIES

Ty
F=mZE8/SPECIFICATION EEEX (Foot type)

KT30
BE/model 19 28 47 73 105 140 180 240
HitHiA%E/ Drive Torque Nm@21MPa 1900 2800 4700 7300 10500 14000 18000 24000
{R¥FHE/ Holding Torque Nm@21MPa 4900 6800 12000 18000 26000 35000 46000 59000
BEZEET/ Max cantilever moment Nm 5200 7100 11900 18400 29500 38800 55900 72900
B ZEEH/ Max straddle moment (180°) 13400 16900 30800 47800 75100 98900 130500 170000
B %3S/ Max straddle moment (360°) 19200 24600 45400 71200 111500 146000 197700 256500
[fazk/ Radial load kg 1800 2300 3600 5000 6800 8200 10000 11800
imItaE/ Axial capacity kg 1400 1800 2700 3600 4500 5900 6800 8200
HEE/Displacement 180° cc 492 688 1180 1870 2680 3540 4650 6000
HEZ/Displacement 360°cc 980 1390 2360 3740 5360 7080 9320 12000
B 5/ Weight 180°) kg 34.5 50 72.5 110 160 220 280 360

E8/ Weight (360°) kg 455 63.4 100 140 200 290 370 455
D1 %&£ H1E/ mounting dia mm 139 155 183 209 234 263 288 310
D2 #={KE4Z/ housing dia mm 140 152 178 203 229 254 279 305
F1 1 Z=imi8227,RJ/ tap hole mm M12x1.75 M16x2  M20x25 M22x2.5 M24x3  M27x3  M27x3 M30x3.5
F2 ix=umtRe2 £ M4/ Nos of tap holes 12 12 12 12 12 12 12 12

F3 iEZ=imtRez b HRIFR/ Pitch of mounting 115 125 150 170 195 215 240 255
F4 in=imigte LR/ flange tap hole mm M10x1.5 M12x1.75 M16x2 M20x2.5 M22x2.5 M24x3 M27 %3 M27x3

F5 inshiniRe240E/ tap Nos 12 12 12 12 12 12 12 12
F6 imzmimiR22fL A OEIEZ/ pitch of tap holes mm 108 120 133 150 170 190 210 230
F7 Z2#F|EH12/ Dia of mounting hole mm M16 M20 M22 M24 M27 M30 M36 M36




PRS2 /SPECIFICATION

H1 =M= E/ height without counterbalance
valve mm

H2 [EmiEF =/ center height mm

H3 JERIE/ foot height mm
H4 R5E/ overall height mm
L1=24¥<E/ overall length (180°) mm

L1=24<E/ overall length (360°) mm

L2ARSiEE A=K/ length without flange (180°)
mm

REIEE£=KEL2/ length without flange (360°)
mm

EZE5TEREEEL3/ distance between flange and
counterbalance valve (180°

EZ=E5TEmEEEL3/ distance between flange and
counterbalance valve (360°

JEBIZLZEFLEEL4/ mounting length (180°) mm

ERIZ 27 LBEL4/ mounting length (360°) mm
iE= 5% 8EEL5/ Flange to mounting hole (180°
mm

W1 JERIZLZEFLEE/ mounting width mm

W2 R EE/ overall width mm

P1 P2 FfHE/ port from housing

19

156

80
48

179
298

427
261

392

75.2

149

229
358

38.1

190
222

KT30
28

186

94.9
70

201
323

470
286

433

134

157

248
395

43.9

230
268

47

212

108
78

226
365

538
323

496

143

197

281
454

50

260
310

73

240

122
88

271
413

615
363

565

130

232

314
516

56.9

300
350

F R ERKT30%%1/KT30 SERIES
JREEZ, (Foot type)

105 140 180 240
276 305 327 362
140 154 165 184
105 110 120 135
283 310 334 366
475 524 551 600
705 776 836 906
431 463 493 534
661 715 775 843
152 185 196 221
267 308 338 374
374 400 426 460
604 652 708 766
59.9 74.2 75.9 80
340 380 410 450
400 447 484 530

ISO-1179-1/BSPP 'G" &%, RIM 1/8 £ 1/4, FNEL,

V1 V2 i@isH0/ port from valve ISO-1179-1/BSPP ‘G’ &%, R~ 3/8, iFEIE.



BIE Model

HH%E/ Drive Torque Nm@21MPa

{R+FH%E/ Holding Torque Nm@21MPa
BEZLEE/ Max cantilever moment Nm
L 2T/ Max straddle moment (180°)
22546/ Max straddle moment (360°)
Emfa#E/ Radial load kg

A thE:/ Axial capacity kg
HEE/Displacement 180° cc

HE=/Displacement 360°cc

&2/ Weight 180°) kg

&2/ Weight (360°) kg
D1f&iE=HE42/ overall flange dia mm
D2 IEAE%R/ pilot dia mm

FEE &30 /SPECIFICATION

19
1900

4900
5200
13400

19200

1800
1400
492
980
34.5
45.5
200
150

28
2800

6800
7100
16900

24600

2300
1800
688
1390
50
63.4
235
175

KT30 ((Z=%%) &5

47
4700

12000
11900
30800

45400

3600
2700
1180
2360
72.5
100
280
205

FeRRRIIEERKT30551/KT30 SERIES
iz=%{ (flange mounting type)

73
7300

18000
18400
47800

71200

5000
3600
1870
3740
110
140
315
230

105
10500

26000
29500
75100

111500

6800
4500
2680
5360
160
200
355
260

140
14000

35000
38800
98900

146000

8200
5900
3540
7080
220
290
396
290

180
18000

46000
55900
130500

197700

10000
6800

4650

9320
280
370
442
315

240
24000

59000
72900
170000

256500

11800
8200
6000

12000

360
455
475
340



PRS2 /SPECIFICATION

KT30 (Z=&E) &5l

PR ZRKT30&%1/KT30 SERIES
=3 (Flange mounting type)

#FlE=EModel

D3%%E£2EH12/ mounting disk dia mm
D47AE1Z/ housing dia mm

F1 5=imi&22#|,RJ/ tap hole mm

F2 i Z=imtR225|, M/ Nos of tap holes

F3 ix=ZimtRez M\ E72/ Pitch of mounting mm
F4 inZimtRte LR J/ flange tap hole mm

F5 imzmininsz40 8/ tap Nos
F6 imzimiRezFL, O EIESR/ pitch of tap holes mm

H1 50,2 i@ARTRERSE/ center line to valve top mm
L1/ overall length (180°) mm

L1/ overall length (360°) mm
L2AREhEEE=1KE/ length without flange (180°) mm
L2ARSTEtE A=/ length without flange (360°) mm

L3;2=5FH@EEE/ distance between flange and
counterbalance valve (180°) mm
L13E=5F&®EIEE/ distance between flange and
counterbalance valve (360°) mm

L49NE=/EE/ mounting flange thickness mm
LSANE=FIRE=IEES/ outer flange to inner flange mm

V1 V2 @B/ port on valve

19
139

140

M12x1.75

12
115

M10x1.5

12
175

99.1
298

427
261
392

75.2
149

25.2
27

28
155

152

M16x2

12
125

M12x1.75

12
206

106
323

470
286
433

134
157

26
32

47 73 105 140 180 240
183 209 234 263 288 310
178 203 229 254 279 305
M20x2.5 M22x2.5 M24x3 M27x3 M27x3  M30x3.5
12 12 12 12 12 12
150 170 195 215 240 255
M16x2 M20x2.5 M22x2.5 M24x3 M27x3 M27x3
12 12 12 12 12 12
245 275 310 345 380 410
118 131 144 156 169 182
365 413 475 524 551 600
538 615 705 776 836 906
323 363 431 463 493 534
496 565 661 715 775 843
143 130 152 185 196 221
197 232 267 308 338 374
31 33 40 42 46 52
35 42 40 53 54 56

P1 P2 #={43H/ port on housing ISO-1179-1/BSPP 'G" &%, RIM 1/8 £ 1/4, FENEL,

ISO-1179-1/BSPP 'G" &%, RJ /9 3/8, FNEK,



Pz &#1/SPECIFICATION FE AR ZEKTA0EKFI/KT40 SERIES

L1

n L3 o
]
i F1 F2 i
. L AT
_ = @/ \b o~
T i = a
Es . Y
o ! '
|y oy |
w1 F3
- [\
L5 L4 L8
L W2 _ - .




PR AKTAORAUKTA0 SERE
KT40Z5%!
01 10600 14300
S L5/ Max straddle moment 4200 7600 10100
1Rmmazk/ Radial load kg 2040 3130 3900
33.6 58 75
D2 {eigiERzss (RIik) BHf=/spline dia mm 80 89.9 98.3
H1 A&FEREE/height mm 150 176 203
173 196 220
L5 ihimmE S&aEfLEEE/foot hole to spline end mm 75.1 113 130

W1 HhIZ3EF | BEE /hole distance mm 104 140 150




4 F=ZE ]

WORK PROCESS

NHRFERRE, AEBNLIEENRAREBLIMN,
BREERIEETR, SER300052K,

To ensure production and quality, we have
machining and assembly work floor area 3000
square meter, we do most process including the

welding and painting process.

LY

7% m——

mnu—i‘iw
P“
o ol

. .




QA/QC

REMER
(QC CHEC
POINTS)

IS

iﬁﬁﬂmﬁhs




QA/QC [hREET

PBREE, SPRERTEBE™ SRR,
MR, 1882, T, Hix, &EEN, BZE,
H SR ESRTETSIEX.

To ensure quality, all process from raw
material, welding, machining , to assemble
hydraulic testing ,painting and final

inspection before delivery all check points

under strict monitor.

ll\ll

(vt




QA/QC  1S09001{KZ%

oW B ok R A OIEIE B

U5 104190Q21783R0S

AR BAR A RA T

Ciills 0 RERA R E R MAER-12-3 %
1R AN 91371002MASCDTRYIO FGER: 2642000

AT 16 0T € e
GB/T 19001-2016/ISO 9001:2015
WA AR R

* REREHRELARE, £ *

£ R ACGE YRR GR/T 19001-2016/150 9001:2015 SERMEAHEHRS, TTAMA RIS INY

. iR T UL SO EAET RN . IR RO B
S, G TSR AN R ARG B SRR S AN M8 (o, encas. govien) LR

RATER: 200011 H 18 H 4 2019 4 11 5 18 BE

CERTIFICATE OF CONFORMITY
QUALITY MANAGEMENT SYSTEM CERTIFICATION
NO. 10419Q21783R0S
T'his is to certify that the Quality Management System of

WEIHAI KAITE HYDRAULIC TECHNOLOGY CO. ,LTD
(Address: Jiuhua Rd 1234, Zhangeun Town, Weihai City, Shandong Pr
Unity Social Credit Code:91371002MAICDTRY39  Postal Code:264200)

is in conformity with:
GB/T 19001-2016/ISO 9001:2015
This system is valid to:

* HYDRAULIC ROTARY ACTUATOR DESIGN AND PRODUCTION *

Further clarifications regarding the scope of this certficate and the applicability of GB/T 19001-201¢
0001:2015 requirements may be obtained by this body organi Centificate in the state

license, g
the regular supervision review of the case eﬁmively.A
official website of the agency and Certi &
China (Www.cnea.gov.cn).

Issue date :2019-11-18

Term of validity: 2019-11-1!

Representative of the company (Director):

S. 4 clun




OUR e —
SERVICES %u EIH&%

¢ FRAIRREARA—F, HEMNALEZBEIE.

¢ REHAA, JIRFTRESRBEEHEETRIERERSH
{EFLHIRRAT M. BIEAS, ENEEREEY
MESE, BHEETE, SHESRINSIE, ~ME
RIZSEEIZA.

& U NIIEFREIARTES:, PERIREE IR,

One year guarantee since delivery




NS

APPLICATION

KT30ZFIFATF YUl
IS LS A EER

ERpREL Oz MAR TREWESE, B2
3 AITENEE N BEE IR e FPHIN A,
Widely used in different construction

: o : L m VIR N BT 7
mac.hlne, such as mining machine and tunnel Lt R
equipment.




NS

APPLICATION

TESEERAETNNA, BaEx/y ik [Eesmlated i ve:
B EAR S EALER:, Below picture

shows the rotary actuator applied in wet

spray machine, usually two actuators

applied for X/Y direction rotation.

H
—~» 4

-

IP " RS S S A R, T
_ ZE SASRYE ESLDESIhERE, AXRSLE
MEER, Above picture shows the application in the
excavator, it improve the working production by free
turning of the bucket without excavator moving.




NS

APPLICATION

RN BELERM{F

IizMBTFE=EElE, FEVFEsEEBEENAKSG
BRI, The application in the aerial working
vehicle or platform.

TEAES R E RS LR
R, EHHEERVIEEIEEIE Al &,
Application in road sweeper vehicle
or other municipal facilities.




NS

APPLICATION

TEAERNEREF ST PRIR .

Below illustrates the open and close control for hatch door

EEHELE
&I JPRIAL
F3

A

THHUIEE EEERJPONA, LI
B aBuR{E, Applied in oil
f|eId valve to achieve remote

control with safety operation.

W S
TN

FHIN A







lr3ZiE

CORPORATE CULTURE

FZEHHE, TRt SRS, ERMRNTm, M
BRREHIIRSS, AEFREHME, ILRTEE=E




LEED

BUSINESS PHILOSOPHY

SKEE, BBRM7S. HE
EGIEEA ) T/ERUME—INEE,

I

ﬁ
mE




A

PART

DEVELOPMENT

E%WJZ

S ————



MARKET
PROSPECT

1l

ILZiET=vai

LIkERZIL, WEERF
RYTENLSZAE

BRIFUAAR, BHEE. M
WEE, RIVERSSIL
{EEIRKYE, H—P=n
HE, RUNE, EAFEE

MRTITHIEEAE, BS
EHEERIEW S S e = =)
ZRALE, BT AL HIRYEUFT,
e TIEER, AEIVAIFIE
AT Tar il




DEVELOPMENT
GOALS

AEBRTR
SHTEEE, BBRELR, S
UL

BRNT, NEREAES
AT

PRODUCTION
3500
3000
2500
2000
1500
1000

500

2016 2017 2018 2019 2020

e PRODUCTION

H—LRERE, FEE
JIERIARZR
2017

2018
2019

2020




STRATEGIC
PLANNING

=gl
HRESER, HIEL RIS
BREFES, FHREFRT
AT,

Y B25 ST FEAOEUR SRR R R
%, BOREREEN, R
BEREE PRSI TR.

T KERSHE, SERE
P RAEEREZZRIEIFR
R, FiREmHmAER, (£
FERIERL /1T BRE R,




A2 : L :_I_ . 1 —_—
B8 el Y E ARG IR A A]
WEIHAI KAITE HYDRAULIGC TECHNOLOGY CO.,LTD
LR BB HIAZ XAV NKE T E
Ei&: 0631-5789884
{EE: 0631-5789884
20/NITIRSS . 13156089310
EBFHBFE: info@weihaikaite.com

thanks

DESIGN BY NIC




